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Oxford college of preference
Czech

Time allowed: 30 minutes

UCAS Personal ID Surname & first name(s) Date of birth

1. Write out the following sentences, substituting appropriate forms of the words given in
capitals and brackets (20 marks, 4 per sentence):

Example: Studuje [CESTINA] na [FILOZOFICKY] [FAKULTA] v [BRNO].

Answer: Studuje Cestinu na filozofické fakulté v Brné.

a. V [PRAHA] je mnoho [HOSPODA] a mnoho [MALY] [OBCHOD].

b. [KOUPIT] jsme v [ANTIKVARIAT] nékolik [STARY] [KNIHA].

c. Ve [STREDA] Jana [JET] s [BABICKA] do [PRAHA].

d. K [OBED] jste [MiT] [BRAMBOROVY] [POLEVKA] s fizkem.

e. [TVUJ] [BRATR] jsem [DAT] knihu a [SESTRA] penize.

2. Translate into Czech (40 marks, 8 per sentence):

a. | hope it is not going to rain tomorrow, because | want to work in the garden.
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b. Anna lost her passport and wallet when she was in London.

c. The German and French students will wait for us in front of the faculty.

d. The police station is in the ugly yellow building right next to the old post office.

e. Yesterday my wife and | went to a restaurant and waited for our food for about an hour.

3. Translate into English (40 marks, 8 per sentence):

a. Vstal pfesné v Sest hodin, oholil se, dal si sprchu a Sel do prace.

b. Kdyby méla vic penéz, prodala by staré auto a koupila nové.

c. Lidé na ulicich vydéSené ¢tou zpravy a mnohym se v Soku hrnou slzy do odi.

d. Mama ho dlouho nevidéla a tenhle ¢lovék vypadal mensi, nez jsme Cekali.

e. Ubytovani se da samoziejmé objednat pfedem v cestovnich kancelafich.

End of Czech paper (page 2 of 2)



Oxford college of preference

French

Time allowed: 30 minutes

UCAS Personal ID

Surname & first name(s) Date of birth

1. FILL THE SENTENCE WITH ONE SINGLE WORD. (10 marks, 2 per sentence):

Example: Elle écoute ....... la musique classique. Answer : Elle écoute DE la musique classique.

- T les linguistes, la langue frangaise évolue de plus en plus rapidement.

b. Elle a décidé..

............. préparer une licence de francais.

c. Je suis allé travailler............... train.
d. Cetécrivainestné............... XVIlIeme siecle.
e. Ce cycliste remporta la course,............... s’en rendre compte.

2. GIVE THE APPROPRIATE FORM OF THE VERB. (10 marks, 2 per sentence):

Example: Je ne pense pas qu’il (venir). Answer: Je ne pense pas qu’il VIENNE.

a. Désquelle (baire) .....cccccoviviiiiiiniin. sa tasse de thé, elle fera ses devoirs.

b. Sije (étre) .....

c. Nous (se voir)

d. En (monter) ...

..................... plus agé, j'aurais pu conduire cette voiture.

.......................... demain aprés les cours.

....................... les escaliers, il s’est apergu qu’il avait oublié son rendez-vous.

e. Il ne faut pas que vous (découvrir) ...............c..o..... les ingrédients de cette recette.

3. TRANSLATE INTO FRENCH. (15 marks, 3 per sentence):

a. She never had breakfast in the morning, and neither did her husband.

b. Two thirds of the population in this country voted for the left.
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c. They were all wearing red handkerchiefs in their jacket pockets.

d. Do you believe that he would have passed his driving test without her?

e. As they do nothing but complain, | tend to avoid them as much as possible.

4. TRANSLATE INTO ENGLISH. (15 marks, 3 per sentence):

a. Situ aimes la mangue, tu as de la chance : on en trouve facilement ici, méme pendant l'hiver.

b. Apres le spectacle, on va sortir déjeuner ensemble au nouveau restaurant libanais.

c. Depuis mars 2017, une policiére n’a plus le droit de porter le voile au travail.

d. Il est fort possible qu'il ait dit des bétises, mais cela ne veut pas dire qu'il faisait exprés de mentir.

e. Lorsqu’il entra sur scéne, il portait un pantalon vert vif, un gilet bleu marine, et des lunettes de soleil.

End of French paper (page 2 of 2)



Oxford college of preference

German

Time allowed: 30 minutes

UCAS Personal ID Surname & first name(s) Date of birth

1. In the following sentences, put the words that are in capitals and brackets in an appropriate form,
where necessary, for the sentences to make sense. (40 marks):

Example: Es war [DER POLIZIST] unbegreiflich, dass [KEIN] Zeuge uber [DER] Vorfall etwas [GENAU]
berichten konnte.
Answer : dem Polizisten, kein, den, Genaues

a. Am Wochenende fahren wir zu [DAS HAUS] [UNSERE ELTERN].

b. Fir mich gibt es nichts [SCHON], als [MEIN URLAUB] mit [EIN SPANNENDES] Buch an [DER
STRAND] zu verbringen.

c. Freutihr [SICH] auf [DER BESUCH] eures GroRRvaters?

d. [DIESER TIPP] hat mir ein [BEKANNT] gegeben.

e. Tom, [BRINGEN] mir doch bitte eine heiRe Schokolade aus [DAS CAFE] mit.

f. [DURFEN] ich [SIE] noch etwas zum Trinken anbieten?

g. Das ist [MEIN BUCH]. [DEIN] liegt da druben.

h. [WELCH] der beiden Pullover geféllt dir besser? Der [SCHWARZ] oder der [BLAU]?

i. Erwar friher [EIN TALENTIERTER SCHWIMMER]

2. Translate into English. (30 marks, 6 marks per sentence):

a. Den jungsten Statistiken zufolge ist die Anzahl der Flichtlinge, die vom Mittelmeer nach
Deutschland weiterreisen drastisch zurtickgegangen.
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b. Neue Worter lernt man am besten dadurch, dass man sie auf Kartchen schreibt und regelmaRig
wiederholt.

c. Anna, komm doch mal wieder bei uns vorbei. Wir haben dich ja schon eine Ewigkeit nicht mehr
gesehen.

d. Der Neue in der Klasse soll vier Fremdsprachen sprechen!

e. Meiner Ansicht nach sollte man bereits im Alter von 16 an den Wahlen teilnehmen durfen.

3. Translate into German. (30 marks, 6 marks per sentence):

a. This morning, | left the house while everyone was still asleep.

b. After getting off the train, he realized his suitcase was still on it.

c. He is waiting for the last customer to pay so he can close the bar.

d. If I had more money | would sleep in a better hotel and not in this lousy youth hostel.

e. It has been two months since you last called your parents. You really should talk to them.

End of German paper (page 2 of 2)



Iltalian

Time allowed: 30 minutes

Oxford college of preference

UCAS Personal ID

Surname & first name(s)

Date of birth

1. In the following sentences, put the words that are in capitals and brackets in an appropriate form,
where necessary, for the sentences to make sense. (30 marks, 6 marks per sentence):

Example: Se io (SAPERE) che ti eri fatto male (io — VENIRE) a trovarti (IN + article) ospedale in cui ti

avevano

ricoverato.

Answer: Se io avessi saputo che ti eri fatto male sarei venuto a trovarti nell’'ospedale in cui ti avevano
ricoverato.

Ho (DOVERE+PORTARE) il mio gatto (DA) veterinario ieri; non (MANGIARE) da una settimana, e
(ESSERE) moilto preoccupata. Se (SAPERE) che non (PIACERE) le scatolette (COMPRARE) un
cibo diverso!

Dopo (ESSERE+CACCIARE) da Firenze, Dante (VAGABONDARE) per ['ltalia e alla fine
(RIFUGIARSI) a Verona. Dopo poco (MORIRE).

Quando non dorme la notte Lucia (IMMAGINARE) dove (ANDARE) in vacanza I'anno prossimo.
Penso che (VOLERE) andare (IN+ Stati Uniti).

Non so di (PRONOUN) parli, questa persona (NON + Pronoun) (CONOSCERE).

Laura non capisce perché (IO+NON+ RIUSCIRE) a tradurre questa frase in inglese. Ma se
(ESSERE) meno difficile la (TRADURRE)!

2. Translate into Italian. (40 marks, 8 marks per sentence):

a. He was sorry not to be able to meet her outside the cinema, it was pouring with rain and the traffic

was very slow. She must have gone in, but he could not find her.
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b. She has been studying French for a long time, but her sister is so much better than her!

c. Would you like to join me for dinner tomorrow? My husband and | would be delighted!

d. Who is that man crossing the road? | don’t recognize him.

e. The weather turned for the worse. It snowed and a very cold wind began to blow.

3. Translate into English. (30 marks, 6 marks per sentence):

a. Hai letto l'ultimo libro di Elena Ferrante? Mi piacerebbe sapere cosa ne pensi.

b. Avessimo ascoltato il loro consiglio, non ci saremmo persi nel mezzo della campagna.

c. Hai visto che domani c’e’ sciopero dei trasporti? Non riusciremo a prendere il treno per Londra.

d. Penso che sia meglio che tu riscriva questo saggio, il tuo insegnante potrebbe arrabbiarsi, dato
che é cosi pieno di errori!

e. Smetti di usare quel benedetto telefonino! Finirai per fare tardi.

TOTAL: /100

End of Italian paper (page 2 of 2)



M O d er n G ree k Oxford college of preference

Time allowed: 30 minutes

UCAS Personal ID Surname & first name(s) Date of birth

1. Write out the following sentences, substituting appropriate forms of the word given in capitals
and brackets. (30 marks, 6 per sentence):

a. Apynoa [ZYTINAQ] kai [KONTEYQ] va xadow Tnv 1IN Hou.

b. Mn [(eou) PEYTQ] atd 1o oiTl, av dev [(eou) BAEMNQ] pwTa 11 KaIpd Ba KAVEL.

c. To okuAdki TG [BAZQ] eivai ToAU [NAZIAPHE].

d. Av dev [(eau) MINAQ] pe Tov ATTéoToAO, dev [(epeic) MAGAINQ] 1 [TINOMAI] xTeg oTo pdbnua.

e. 'Ewaxva 6An m uépa [BPIZKQ] Tagi, aAG dev éBpioka yiaTi Ekavav atrepyia ol [TA=ZITZHZ].

2. Translate into Modern Greek. (40 marks, 8 per sentence):

a. They haven’t seen each other for a long time.

b. Why don’t you put the new clocks above the old sofas?
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c. You'll see, as soon as he arrives, he’ll start talking nonstop.

d. If they knew what it meant to him, they wouldn’t have thrown it away.

e. | don’t know what you think, but I've always liked this actress.

3. Translate into English. (30 marks, 6 per sentence):

a. 'Exw va tov 0w mTévw atrd éva Xpovo, aAAd PIAGUE ouxva aTO THAEPWVO.

b. Makdpi va punv épBouv atmoéwe. Toug Bapiépal apavtaoTa.

c. Kovrewa va oTrdow 10 XEPI MOU TTEQTOVTAG ATTO Tr OKAAQ.

d. Me pwtnoe uyATTWG EEPEIG TTOOWV XPOVWV €ival n KaBnynTpId Pag.

e. Av @uodel, KOAUTEPA va PNV TTAPEIG OUTTPEAQ.

End of Modern Greek paper (page 2 of 2)



Oxford college of preference

Portuguese

Time allowed: 30 minutes

UCAS Personal ID Surname & first name(s) Date of birth

1. Transform the following articles and nouns from singular to plural (10 marks):

Example: a mae
Answer: AS MAES

a. o elefante 2
b. o pastel (2)
c. aestacdo (2)
d. o corredor (2)
e. aalema (2)

2. In each sentence insert the verb in the correct form for its grammatical context. (15 marks):

Example: Ontemeu .........cocevnennne. de casa mais cedo. (SAIR)
Ontem eu SAI de casa mais cedo.

a. Foi um accidente da minha parte! .......................... desculpa! (PEDIR) (3)
b. Quando o telefone tocou, NOS ..........cccceeeviineeene todos a dormir. (ESTAR) 3
C. Sevocés........ceeueee. 0 comboio, voltem para casa. (PERDER) (3)
d. Depoisdeamanha..................... tarde demais para participar no concurso. (SER) 3)
e. No ano passado 0s irmaos ............... uma viagem inesquecivel. (FAZER) (3)

3. Fill in the gap with an appropriate preposition, where necessary. (15 marks):

Example: O tempo hoje estd semelhante ...................... o de ontem.

Answer: O tempo hoje esta semelhante AO de ontem.

a. O ladréo foi perseguido ..........ccccvvvveeeeiniiiiiinnnn. 0 agente policial. 3
b. Aprendi a andar de bicicleta ......................... 0S cinco anos. 3)
c. Eles gostam muito ...........cccvvvvveeennnnns experimentar frutas exoticas. 3
d. Elanuncachegou acasar ............cc........ 0 Jodo; embora morassem juntos muitos anos. 3)
e. Compraste aprenda .................. oferecer a tua mae? (3)
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4. Translate the following sentences into English. (30 marks):

a. Embora seja brasileira, vivo em Inglaterra desde pequena. (6)
b. Nunca imagindmos que houvesse tantos turistas no museu. (6)
c. Recusar a oferta foi a experiéncia mais dificil que ele ja teve. (6)
d. E pena que ninguém se lembrou de fechar a porta. (6)
e. Se vocés tivessem chegado ao final da corrida, teriam ganho o prémio. (6)

5. Translate the following sentences into Portuguese. (30 marks):

a. Last night she told me an unbelievable story. (6)
b. I’'m sure you'll get there on time if you hurry. (6)
c. The cold never bothered me anyway. (6)
d. How much money do you think we’ll need? (6)
e. They couldn’t have chosen a better candidate for the job. (6)

End of Portuguese paper (page 2 of 2)



Oxford college of preference

Russian

Time allowed: 30 minutes

UCAS Personal ID Surname & first name(s) Date of birth

1. Fill in the gaps in the following sentences, substituting appropriate forms of the words in
capitals enclosed in brackets (25 marks, 5 per sentence). NB: Infinitives are given in the
imperfective aspect. You should choose the aspect which is appropriate to the sentence.

a. HepentoHaszag, nepen .....cccoevevveeeniininnnnn.. (HOBOFO)J,HI/II?I) ............................
(MPA3OHUK), ., (MUCATDB) HECKOMBKO ...euviiiiaiaeeeaeenanannns (MMCBbMO)
O (MOTWN) Ha nouTy.

b. A . (YYUTBCAH) B uHCTUTYTE. B BaCCerH A ..o (MOTW) pBa
PABAB .iviiiii e (HEOENA), MO o (YTPO). B cytbon s
7L or=T o T Fo 1 =1 (o I 1 [0 T TP (BOCKPECEHbE).

c. [NeTepbypr GbiN OCHOBAH ............ceevenenes (LIAPB) MeTpOM I B .o.veviiiieieae
........................................................................ (1703) v (FONO)

o R O =Y (o ) - P (24)
................................ (OTAX) OTKPBLIBAETCS .....evevvveeeeeevvneaenennnnnn. (MPEKPACHBIN)

2. Translate into Russian (50 marks, 10 per sentence), writing out any numerals in words.

a. lgor’ has a headache. He has to take one tablet twice a day.

b. We met by the hotel at one o’clock. The film began at half past one, and | wanted to buy ice-cream
before the start.

Please turn over (page 1 of 2)



C.

| like to play the guitar before supper, then watch the news on television.

He was walking down the street when he saw his favourite uncle, who was drinking beer.

The books which she had lost were soon found. She had dropped them yesterday, and they were
lying on the floor.

3. Translate into English (25 marks, 5 per sentence).

a.

Halua akckypcms noaxoamuT K koHUy. Mbl ¢ Bamu BUAENn Nuwb HeGonbLUyo YacTb U3 TOro
MHTEPECHOro, YTO CTOUT NOCcMOTpeTb B Pume. OgHux my3eeB B PvMe OKONo ceMUAECSTH.

MpoLuno okono Yaca, 1 He cTano BUOHO TeHen. JlyHa yxe cTosina BbICOKO Hafg AOMOM U OcBellana
cnawmn cag. CTaHOBUITOCh OYEHb XOJOAHO.

B opyron pas, 6yay4um yxe CTygeHTOM, exan s No XenesHown Jopore Ha tor. Ha ogHowm 13 ctaHumn
BbILLEN 51 U3 BaroHa Nporynatbcsa no nnatgopme.

OHM BnepBble NO3HaKOMUMUCL YeTbipe rofa Hasag. Ceiyac y HUX CeMbs, IBOE CbIHOBEW, Y
Ka)kgoro cBosi paboTa, HO 3aHMMaTbLCSA CMIOPTOM OHW MPOAOIIKAOT.

Ero HeT goma. OGelan npunTK Yacoe B AecsTb. Beab cerogHs KOHUEPT, OH ¢ paboTbl noexan
npsiMo TyAda. A 4To eMy nepeaatb?

End of Russian paper (page 2 of 2)



Spanish

Time allowed: 30 minutes

Oxford college of preference

UCAS Personal ID Surname & first name(s)

Date of birth

1. Choose the correct alternative from the words in brackets:

a. Picasso [CREYO/CREO/CREOQ] ....... muchas obras maestras, casi son
[DEMASIADO/DEMASIADOQOS] .....c.eun..... cuadros para poder recordarlos todos. [4]
b. Teresa suefia [CON/DE/A] ........ viajar a México, ya que [LA/ELLA/LE] ........ encanta descubrir

mundos nuevos.

[6]

c. [PARA/POR] ........ ti, haria cualquier cosa. Mi Unico deseo es que [ESTES/SERAS/SEAS]

........ capaz de entenderme.

[4]

d. Cuando [HAGA/HAYA/HARA] ........ buen tiempo, ya no [TENDRE/TENGO/TENGA] ........

ganas de ir de paseo.

e. No aguanto que me [PEDAN/PIDAN/PIDEN] ........ que no [DECIR/DIRE/DIGA] ........ nada.

[DE/POR/EN] ....... absoluto.

2. In each sentence insert a verb or verbs appropriate to the grammatical context:

Example: Si mafiana [TENER, nosotros] ...................
parque.
Answer: Si mafiana tenemos tiempo, iremos al parque.

a. Todos necesitamos que nuestros amigos nos [APOYAR]

proyectos e ilusiones, aunque solo [SER] .............cooveennn.

................... en nuestros

moralmente. [4]

........... de mi como si [SER, yo]

[4]

c. Tras haber leido muchos libros histéricos en su infancia, de mayores les [GUSTAR, ellos]

.......................... vivir en el siglo XV, pero no [PODER]

d. Juan tenia la intencion de que todos le [HACER] ..................

solté anoche no [DAR].........ccooviiiiinnn. resultado.

e. Eljefe dijo: “Hasta que [TENER, usted] ..................coeee.

................... ser. [4]

........ caso, pero la mentira que

[4]

claro que en esta empresa no hay

nadie que [SABER] ... informatica no nos [PONER, nosotros]

[6]

f. Sin que los profesores [CAER] .........cccceiviiine.n. en la cuenta, el lunes pasado [IR, nosotros]

.......................... a la playa en vez de ir a clase.

[4]
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3. Translate into Spanish:

a. The Prime Minister will sanction the MPs who do not vote in favour of the new law.

[4]

b. We were about to leave when the police arrived on the lookout for someone who knew the
suspect.

[5]

c. Now that we have reached an agreement, let us consider it a done deal and forget all about it.

[6]

d. Whatever they say about me, don't listen to them and trust me.

[5]

e. If the pilots had been offered better working conditions, the strike could have been avoided.

[5]

4. Translate into English:

a. Estoy hasta el mofio de que tengamos que ser siempre nosotras las que debamos pasar el
aspirador.

[5]

b. No olvidemos que Europa lleva existiendo desde mucho antes de la fundacion de la Unién
Europea.

[4]

c. A estas alturas, quién sabe si Che Guevara no sera para muchos un personaje de ficcion.

[5]

d. No parecia importarle que su conducta estuviera causando una mala impresioén. jSigui6
derrochando dinero en ropa de disefio y coches deportivos!

[5]

e. De haber sabido lo que iba a pasar de antemano, Patricia nunca habria decidido emigrar a un
pais tan lejano y tan lleno de gente reacia a aceptar a inmigrantes.

[6]

End of Spanish paper (page 2 of 2)



Linguistics

Time allowed: 30 minutes

Oxford college of preference

UCAS Personal ID Surname & first name(s) Date of birth

| am applying for a course involving (please tick):

[J Modern Languages & Linguistics

[1 Philosophy & Linguistics

[1 Psychology & Linguistics

Make an attempt to answer all the questions. Do not worry if you find you have little to say about some of
the questions, or if you do not have technical terms for the features you wish to describe. While there are
"right" and "wrong" answers (or several equally good answers), how you go about finding answers is as
relevant to us as producing an answer which is completely correct.

Write your answers in the space provided on the paper. Please take care to write clearly. If you wish to
write your notes on the paper, there is no need to cross them out. Total marks: 100.
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Question 1: Chamorro [33 marks].

Chamorro, an Austronesian language spoken in Guam, BACKNESS
has six vowels that can be described using three HEIGHT front back

features and two BACKNESS features as shown in the table high i u
to the right. Consider the following two lists of data from g mid e o
Chamorro and answer questions (a) — (e) below. [Note, each letter m
. I low & a
symbolizes one sound]
1l)a. gume ‘house’ b. i gime ‘the house’
2)a. tomu ‘knee’ b. i temu ‘the knee’
3)a. gwihen ‘fish’ b. i gwihen ‘the fish’
4)a. lahi ‘male’ b. i laehi ‘the male’
5)a. pecu ‘chest’ b. i pecu ‘the chest’
a. List all of the vowel changes in List 1 (1-5)? [6 marks]
b. What feature do all of the vowels that changed have in common?: [2 marks]

Now have a look at List 2 (6-10). It is not only the definite article ‘i’ that causes vowels to change. Some
pronouns and prepositions also have this effect:

6) a. hulu? ‘up’ b. s&en hilu? ‘upward’

7)a. otdu? ‘ant’ b. mi etdu? ‘lots of ants’
8)a. oksu? ‘hill’ b. gi eksu? ‘at the hill

9 a. lagu ‘north’ b. saen laegu ‘towards north’
10) a. tunu? ‘to know’ b. en tinu? ‘you know’

c. Do the vowels that changed in List 2 share the same feature as the vowels in List 1?7 [6 marks]
(circle one): YES NO
d. What vowel feature is shared by the definite article in List 1 and the pronouns and prepositions in

List 2?
[2 marks]

e. What is the rule accounting for all of the vowel changes in these two lists? [17 marks]
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Question 2: Michoacan Nahuatl [33 marks]. Consider the following data from Michoacan Nahuatl, a
language spoken in Mexico, and answer questions (a) — (d) below.

1. nimoita ‘| see myself’ 7. nimitsita ‘| see you’

2. nikita ‘| see him’ 8. tinetfita ‘you see me’

3. timoita ‘you see yourself’ 9. tikita ‘you see him’
4. nimoaniltia ‘| dirty myself’ 10. nimitsaniltia ‘| dirty you’

5. nikaniltia ‘| dirty him’ 11. tinetfaniltia ‘you dirty me’
6. timoaniltia ‘you dirty yourself | 12. tikaniltia ‘you dirty him’

a. ldentify which parts of word represent the following:

[10 marks]

4. you (subj)

5. you (obj)

m

WIN |-

A
. me

b. Inthe sentence ‘I see myself, ‘myself is a reflexive pronoun. How are reflexive pronouns expressed
in Michoacan Nahuatl? How is this different from what happens in English?

[7 marks]

c. In Michoacan Nahuatl the verb ‘to scold’ is -ajua’. Based on the data above, how would you say the
following:

i. ‘I scold him’

[6 marks]

ii."You scold me’

d. Listatleast two ways (other than in the expression of reflexive pronouns) in which Mihoacan Nahuatl
and English are different.

[10 marks]
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3: Lexical Access [34 marks]. Accessing words from the mental lexicon takes time. One experimental
task designed to measure the speed of lexical access is Lexical Decision. Strings of letters are
presented on a screen and participants are asked to respond whether the letter string is a word or a
nonword. A basic result in the lexical access literature is that the average response time for words and
nonwords is different; however, in the following data set, the average response times to words and
nonwords for native English speakers was not significantly different (t=0.079, p=.940). The graph
displays the initial comparison of the grand average means with 95% confidence intervals. Use this table
and figure to answer questions (a)-(c) below.

Average Average 1200

Word Response Nonword Response _

Time (msec) Time (msec) g 1000
1. tree 655 7. pmde 225 E a0
2. book 668 8. pive 1109 g _
3. keep 652 9. sdit 260 % 600 +— —
4. bill 665 10. ptka 265 2 400 -
5. ride 648 11. mide 1093 8.
6. tome 672 12. peem 1098 g 200 — ——
Grand 660 675 0
Average Word

a. Based on the graph, are the grand average lexical decision times different from each other? (circle

one): YES NO [2 marks]
b. Focusing on the average response times to individual 1200
Words and Nonwords, what difference did the _
researchers not take into account? Draw what the data g 1000
would look like using the blank graph on the right. % 800
[16 marks] E
= 600
£ 400
o,
g 200
0
c. What does this difference tell us about how we access the mental lexicon? [16 marks]

End of Linguistics paper (page 4 of 4)
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Language Aptitude Test

Time allowed: 30 minutes
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| am applying for a course involving (please tick) Beginners"”.

[ Czech (with Slovak) [1 German L[l Italian [1 Modern Greek [lPortuguese [ Russian

The following questions are based on an invented language, Lagénmoi. Lagdnmoi has no definite or
indefinite articles (no words for the or a), nor does it differentiate simple from progressive tenses (goes
vs. is going). Unlike English, Lagénmoi does not have a fixed word order (thus a sentence like he saw
me can appear as me he saw or saw he me, and mean the same thing each time). In Lagonmoi,
accented vowels (like &) are different from their unaccented counterparts. Work out the meanings of the
sentences, individual words, and their components by reading carefully and considering the differences
between similar forms. The exercises are built up gradually, so it is best to do them in order. [Total value
for the test: 50 marks]

(a) Study the following sentences:

kérts pilotoi rarah The judge loves the wife.
gérgs hdgos ékotoi The farmer has a ram.
autotoi bols audanh The bird sings songs.
maétotoi h6gah dars The snake sees a ewe.
misomoi kértons | hate the judges.

réarh dkotoi héganh The wife leads the ewes.
lagés korsontoi The camels are running.
maotomoi bolés | see a bird.

bolés bagdntoi darons Birds eat snakes.

rarah délah yaldntoi The wives are throwing a ball.

Give the meaning of:

kertds miséntoi hégons [3]

motontoi gergds daros [3]

Translate into Lagéonmoi:

The wife loves birds. [4]

| eat camels [4]

(b) Study the following sentences:

rakahé wodh maiqotoin Water is not in the desert.

gergos ekontoi akons Farmers have fields.

rakah tu dégah gérgs mapilotoin The farmer does not love the desert or the city.
bélons rars mamoétotoin krekosé The man does not see birds in the cage.

purs akoné wértotoi A boy laughs in the fields

teldh mabuddéntoin dogahé In the city trees do not grow

Please turn over (page 1 of 2)



domahé kréks igotoi

kertds mapilontoin dokons
telahé béls igotoi
mawertontoin lagés rakanhé

Give the meaning of:
krek6s maigdntoin domah

There is a cage in the house.
Judges do not love jurors.

A bird is in the tree.

Camels do not laugh in deserts.

[3]

lAgs wodah maékotoin

[4]

Translate into Lagénmoi:

The desert does not have trees.

[5]

Jurors in the cities do not hate the farmers

[6]

(c) Study the following sentences
pipilomoi purah
kokorsontoi sotosé eltés
nagos merénmoi
mababagodntoin bolés sddanh
yayalotoi pélos réars
naqs werahé weweékotoi
purh eékotoi ripos ka pélos
doks mamomototoin bolons telahé

Give the meaning of:
kertés mawewerténtoin gérgons

| loved the girl.

The drivers were running in the road.
We condemn the god.

The birds did not eat the flowers.

The man threw the spear.

The god lived in heaven.

The girl had a sword and a spear.

The juror did not see the birds in the tree

[4]

purah ka purdés yayaléntoi délah akoné

[4]

Translate into Laqénmoi:
Camels did not live in cities.

[4]

The judge and the jurors did not condemn the driver.

[6]

End of Language Aptitude Test paper (page 2 of 2)
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Answer PART A and ONE QUESTION ONLY FROM PART B.

Spend half an hour on each and do as much as you can within that time.
PART A
1. Read carefully through the following passage, and answer questions (a) and (b) below.

People who talk of opting out of [morality] are thinking of it as a mere local set of restrictions — often
sexual restrictions — something comparable to a district one might leave, or a set of by-laws one
might repeal or decide to ignore. But in fact this community of standards and ideals is something
much wider, much more pervasive, more enclosing — much more like the air we breathe. It is not
even comparable with a particular language that we might decide to stop speaking, though that could
itself be traumatic enough. It is more like the condition of speaking — and thinking — in any language
at all.

Getting right outside morality would be rather like getting outside the atmosphere. It would mean
losing the basic social network within which we live and communicate with others, including all those
others in the past who have formed our culture. If we can imagine this deprived state at all, it would
be a solitary condition close to that of autism or extreme depression — a state where, although
intelligence can still function, there is no sense of community with others, no shared wishes,
principles, aspirations or ideals, no mutual trust or fellowship with those outside, no preferred set of
concepts, nothing agreed on as important.

Mary Midgley
a. Explain in your own words the thought of the above passage.

b. EITHER: If one could get ‘right outside morality’, would communication still be possible?

OR: How, if at all, could we tell whether ‘the condition of speaking — and thinking — in any
language at all’ is one shared by non-human animals?
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PART B

2. ‘The real point of conceptual art is the concept, or in other words the interesting or daring idea
contained in the artwork. But once the idea has been had, such as displaying a pile of ordinary
bricks, or a urinal, or an unmade bed, as art, nothing artistically significant is added by actually
carrying out the idea.’ Present the strongest argument you can for or against this claim, noting
and seeking to address any likely objections to your argument.

3. In what follows, P and Q stand for English declarative sentences (sentences which have a truth-
value, true or false). An argument is a collection of declarative sentences, one of which is marked
off from the others (for example, by the word ‘therefore’) and claimed to follow from the others.
The following is a valid form of argument; ‘Q is true’ follows from the other sentences, whatever
declarative sentences we choose for P and Q:

P is true; If P, then Q; therefore, Q is true.

Comment on the validity of the following arguments. Where appropriate, give examples to
support your reasoning.

(a) Q is true; If P then Q, therefore, P is true.

(b) Peter believes P; If P then Q, therefore, Peter believes Q.

(c) Jane does not believe P; If P then Q; therefore, Jane does not believe Q.

(d) Siobhan believes P. Therefore, if Siobhan believes ‘If P then Q’, Siobhan believes Q.
(e) Derek does not believe Q. If P then Q. Therefore, Derek ought not to believe P.

() P is true. Prudence does not believe ‘If P then Q'. Therefore, Prudence does not believe Q.

4. Discuss the relationship between the following three concepts: argue; debate; discuss.
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